A X3
Hu: ool dMaEs XY (sgol .
B HA0E i X HAuRE (&2 &8)

Ol XI1& ot 7,473,205 7,461,740 11,465

= 1,995,410 1,995,410 0

= 214,730 214,730 0

LS 5,263,065 5,251,600 11,465

ool Muss X (sBoLat/oi 24t - 0fE) 7,239,480 7,306,480 267,000
= 1,995,410 1,995,410 0

= 129,470 129,470 0

E 5,114,600 5,181,600 267,000

SHelOlE A & UHuREE 51,500 93,500 242,000
o2l EMNE K& 30,000 72,000 242,000
403 XM ENH=01E 6,000 48,000 242,000

02 ZBI12SOCHEHHE AL HI 0 42,000 242,000
O=E=04 =g ToH AAICHR M= 0 42,000 242,000

olgel SXXd 520,906 545,906 225,000
olgiol EXIXE &l 217,406 242,406 225,000
307 Q12+0l & 17,000 42,000 225,000

01 AZ2SFZHI 5,000 30,000 225,000
oFE+&2Y X I=ZXE 5,000 30,000 A25,000
HRES(OIXAL) (=Sl Lrat/aidsst - HE) 78,465 0 78,465
WEHHXI = : 78,465 0 78,465
=40 Y SHEXE 78,465 0 78,465
802 g+ =D E 78,465 0 78,465

01 =NEXSLES 78,465 0 78,465
©'10d =40 HEXA 78,465 0 78,465
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